
EVOFLEX HIP BELT, TECHNICAL SPECS

GD11-1006-30 10/06/2011 D. DOUGAL

Bodypoint          558 1st Ave. South          Seattle, WA 98104          USA        tel  (206)405-4555     fax (206)405-4556          www.bodypoint.com          sales@bodypoint.com

description

drawing no. date originated drawn by rev.

note

12346 5

1 2 3 4 65

MINIMUM MOUNTING LENGTH

®

technical bulletin

PUSH-BUTTON

L62

SIZE

M46

EB205-L62

EB205-M46

PART

NUMBER

S38

BUCKLE

TONGUE
D-RING

ADJUSTMENT STRAP RANGE

HOOK-AND-LOOP PAD 

62cm (24-1/2")

46cm (18")

38cm (15")

MAXIMUM MOUNTING LENGTH

M46

L62 5cm (2")

4cm (1-1/2")

STRAP WIDTH

S38 2.5cm (1")

PADDED LENGTH

PAD WIDTH

7cm (2-3/4")

5.5cm (2-1/4")

5cm (2")

VELCRO® COMPATIBLE

12.5cm (5")

10cm (4")

8.5 cm (3-1/4")

MOUNTING HOLES, Ø 8mm (5/16")

25mm (1") SPACING

96cm (37-3/4")

76cm (29-3/4")

63cm (24-3/4")

2X M6 LOW-PROFILE FLANGE NUT

2X M6 X 8 SCREW

65 cm (25-3/4")

50cm (19-3/4")

43cm (16-3/4")

REHAB LATCH

SIZE

EB225-L62

EB225-M46

PART

NUMBER

PUSH-BUTTON

X-SMALL METAL

SIZE PART

NUMBER

EB235-S38

Bodypoint

SWIVEL

SIZE

EB275-M46

PART

NUMBER

EB275-S38

INCLUDED MOUNTING FASTENERS

L62

M46

S38

L62

M46

S38

L62

M46

S38

M46

L62

S38

M46

L62

S38

M46

L62

S38

M46

L62

S38

M46

L62

S38

N/A N/A

N/A

N/A N/A

2X SPRING WASHER

NOTE: SEE NEXT PAGE FOR LENGTH WITH BELT EXTENDERS ADDED



EVOFLEX HIP BELT, TECHNICAL SPECS

GD11-1006-30 10/06/2011 D. DOUGAL

Bodypoint          558 1st Ave. South          Seattle, WA 98104          USA        tel  (206)405-4555     fax (206)405-4556          www.bodypoint.com          sales@bodypoint.com

description

drawing no. date originated drawn by rev.

note

®

technical bulletin

MOUNTING HOLES, Ø 8mm (5/16")

25mm (1") SPACING CENTER-TO-CENTER

2X M6 LOW-PROFILE FLANGE NUT

2X M6 X 8 SCREW

Bodypoint

WITH EXTENDERS ADDED

M46

L62

S38 88cm (34-3/4")

101cm (39-3/4")

121cm (47-3/4")

EBE100 EVOFLEX BELT EXTENDER--GENERAL SPECIFICATIONS

INCLUDED FASTENERS FOR ATTACHING

BELT EXTENDERS TO EVOFLEX BELT

EBE100 EVOFLEX BELT EXTENDERS ARE MADE FROM IMPACT-RESISTANT THERMOPLASTIC

FOR ADDITIONAL INFORMATION, SEE D20-0225-01 EVOFLEX BELT EXTENDER INSTALLATION AND USE

123

1 2 3

MAXIMUM MOUNTING LENGTH

19cm (7-1/2")

4cm (1-1/2")

15cm (6")

4mm (5/32")

ANTI-ROTATION LOCKING PIN

12.5cm (5")


